
ASSEMBLY & INSTRUCTION MANUAL

READ AND SAVE THIS INSTRUCTIONS FOR FUTURE USE

INcba078V03_UK_FR_ES_DE_IT

921-195



EN

120



FR

120



ES

120



DE

120



IT

120



PART
LIST

M 1

L 4

G 1

F 1

E 1

D 5

C 2

B 1

A 1

3

M8*25

K

6

M6*25

J

4

M6*20

I

PART
LIST



02

03

01

4

M6*20

I

M 1

L 4

G 1

F 1

E 1

D 5

B 1

6

M6*25

J

C 2

I

L

F

B

J

C

M

C

B

M

G

E

D



05

04

done

A 1

3

M8*25

K

M 1

B

A

K

M




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10

